#2.3% 105 Solution for the cantilever beam using indirect BEM

Governing equation:

d*u(x)
dx*

Fixed
end

=0,0<x<L

Boundary conditions:
u(0)=0,6(0)=0
m(L) =M, v(L) = F,

Direct method

u(x) = {~U (s, x)v(s) + O(s, X)m(s) — M (s, X)&(s) +V (s, )u(s)} 5

Indirect method

Based on the indirect formulation, the displacement field can be represented by

u(x) = ZP(S,-,XWJ +ZQ(SJ’X)V]J :

The two kernels P and Q are obtained from either the two combinations of the kernels
U(s,x),0(s,x),M(s,x)andV (s, x) .

Choosing P and Q Group
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(1) Solve the cantilever case subject to the end moment and shear. Fo

Fixed
(2) Solve the problem by the indirect BEM. end

(3) Detect the rank of [A] matrix where
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